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P(X =0)=(-a)(l—b)=1-a—b+ab., P(X=1)=a(l-b)+(@-a)b=a+b-2ab, P(X=2)=abTH 57 bH
(i)
P(X =0)=1-a-b+ab=(1-p)? —O
P(X =2)=ab=p? —®
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P(X =) =a+b—2ab=2p@—p) —@

a+b=1+ab—(1-p)?=1+p?-(1-p)?=2p
a+b=2p(l-p)+2ab=2p@-p)+2p*=2p
L7eioT, —3, a+b=2p, ab=p* LY. a biIt® -2pt+p’=0DfFTH 5,
t-p)?=0LV., a=b=p® 1@ BIFET D, €29
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P(X:O):l—a—b+ab:5 —O P(X :1)=a+b—2ab:§ —O P(X:Z):ab:5 —O
DO, @&Y a+b=1+ab—%=1 @, @&D a+b=1+2ab=1

LT, —F, a+b=1 ab:%ctb\ a,bzitz—t+%=00)ﬁ’¥f“§>éo

2
Lz A, t2—t+%:(t—%j +1_12>ow\ FEMRAAEAE L7200,
Lo T, —RENTiE 525 a b OREIZHTE LA, e ()



